Single digit division (no remainder)

Find the quotient.
(1) 2500+ 5 = A1) 2730+7=
(2) 312+2= 2 5775+7=
(3) 1521 +3= 13 1344+6=
(4) 3750 =6 = 5616 =9 =
(5) 1179+ 9= (15 3816+6=
(6) 1848 = 6 = 7884+ 9 =
(7)968 4= A7) 114+2=
(8) 5061 + 7= 5117 + 7 =
(9) 1146 + 2= 1260 + 3 =

10) 3400+ 5= 5369 = 7=
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Single digit division (no remainder)

Answer Key
(1) 2500 + 5= 500 A1) 2730+ 7=390
(2) 312+2=156 12) 5775+ 7=825
(3) 1521 + 3 =507 13) 1344 +6=224
(4) 3750 + 6 =625 5616 + 9 = 624
(5) 1179 + 9 = 131 15 3816+ 6=636
(6) 1848 + 6 = 308 7884 + 9 =876
(7) 968 = 4 = 242 A7) 114+2=57

(8)5061+7=723 5117 + 7 =731
(9) 1146 +2=573 1260 + 3 = 420

(10) 3400 + 5 = 680 5369 + 7 = 767
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Single digit division (no remainder)

Find the quotient.
(1) 4080 = 8 = A1) 276+3=
(2) 266 +2= A2) 1794+6=
(3) 2340+ 4 = (13) 1948 +2=
(4) 2838 + 3 = 420 + 4 =
(5) 595+5= 15 840+2=
(6) 2604 + 7= 6432+ 8 =
(7) 1488+ 3 = A7) 3944 +8=
(8) 2388 + 6= 7096 + 8 =
(9) 2744+ 7= 2430+ 9 =

(10) 2364 + 4 = 5454 + O =

Please visit our site for worksheets and charts https://whatistheurl.com/



Single digit division (no remainder)

Answer Key
(1) 4080 + 8 =510 A1) 276+3=92

(2) 266 +2=133 12) 1794 +6 =299
(3) 2340 + 4=585 13) 1948 +2=974
(4) 2838 = 3 =946 420 + 4 =105
(5) 595 + 5=119 15 840+ 2=420
(6) 2604 + 7 =372 6432 + 8 = 804
(7) 1488 + 3 = 496 A7) 3944 +8=493
(8) 2388 + 6 = 398 7096 + 8 = 887
(9) 2744 + 7 =392 2430 + 9 = 270

2364 + 4 = 591 5454 + 9 = 606
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